Name: Date:

Teacher: Class:

Find the Secret Trail 502

Why aren't elephants allowed on the beach? Because they
can't keep their trunks up!

Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.

9 | 4 |4 |6 |sat |6 |9 |10]| 8
71311109 7 o |10]| 7

sat | 4 | 0 |10 | O 8 | 4|9 |7
o5 |09 10| 9 |7 |6

1 ] + Finish 52 2 ] + Finish 57

1 |5 ]9 |2 9 | 5 |10]| 2

st | 41 | 2 | 7 | 7 7 10| 8 | 4
2 | 7 |10] 6 1 |1 ]5 |1

2 | 4|9 |8 |sat |35|5 |6 |0

3 — Finish 0 4 — Finish 4
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Answer Key Date:

Teacher: Class:

Find the Secret Trail 502

Why aren't elephants allowed on the beach? Because they
can't keep their trunks up!

Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.

44— | S | 6——9—-30 | 8
13|01 s* 7 1o |10/ 7
4| o |10 (#) 8 | 4|9 |7
0|5 o0 s* 0|9 | =6

1 ] + Finish JZ 2 ] + Finish 57
1|5 |9 ]2 o | 5 |10] 2
sl 2|7 |7 y T R S
2|7 |1 11|51
2 1 4 19 E* sat | 35 | 5 | 6 | 0

3 ] — Finish & 4 — Finish A
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